INTERMEDIATE EXAMINATION - 2023 (ANNUAL)

Sub. Code - 329

Multimedia & Web Technology

Time :- 3 Hours 15 minutes (qedIffSar v 99 SaTlSh)

IHyg : 3 ©e 15 e

LA, 1.Sc. & 1.Com. — (OPT)

Total No. of Questions : 70+20+6=96
§ Tl B G : 70+20+6=96

ghenrfelalt & fore [A3or —

Instructions for the candidates :-

Full Mark - 70
quries — 70
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Candidate must enter his/her Question Booklet Serial no. (10 digits)
in the OMR Answer sheet.

oRIeTef ALY I TRl H B IR G |

Candidates are required to give answer in their own words as far as
practicable.

TR ol TRE W R gy aie e Fifde axd §

Figures in the right hand margin indicate full marks.

gel B LFYad UgH & oy wielRidl w15 fAee @1 sifaRed wHa
e g |

15 minutes of extra time has been allotted for the candidates to read

the questions and follow the instructions carefully.



I8 Ue GRADI & US| H B, WUS—3, Ud WUs—9 |
This Question Paper is divided two section - Section-A & Section-B

QGus—3] ¥ 70 RIS YA 7, N ¥ fH= 35 UeAl &1 Ik <1 Afard

2| 35 Ul ¥ 3Mfdd BT ITR I W YA 35 BT &1 Jedidhd N1 | YD &
fog 1 sfe fEiRa 21 9@ SR <7 @ folv Suader = ™ OMR

STR-UF% # e T F81 fadbey &I el /®let §7dd U9 0 W8 &y | el

A1 JR ¥ BABeR/TRd Ugf / s/ RgA e OMR SR v #

TRINT AT AT &, 31T Tie ufRomd =T 81T |

In Section-A, there are 70 objective type questions out of which any
35 questions are to be answered. If more than 35 questions are
answered, then only first 35 will be evaluated. Each carrying 1
marks. Darken the circle with blue/blue ball pen against the correct
option on OMR, Answer sheet provided to you. Do not use whitener/
Liquid/ Blade/ Nail etc. on OMR Answer sheet, otherwise the result

will be invalid.

Gus—g H 20 Y NI U & | IS & foIg 2 3 MR &, [ A

fpsl 10 Ul &7 IR <AT I 2| 39 IfaRad 59 Wvs H 6 oY
SR U [ W g, U & forw 5 e FMuiRa g, N 9 (&<l 3
g9} BT SAR AT Sifeard g

In Section-B, there are 20 short answer type questions, each

carrying 2 Marks, out of which any 10 questions are to be answered.



Apart from this, there are 6 Long Answer type Questions, each
carrying 5 Marks, out of which any three Questions are to be

answered.

8. Il UPR & SAFSIH SUBRYT BT TIANT afoid B |

Use of any electronic appliances is strictly prohibited.

Tus—3 (axgfrs uz)

Section - A (Objective Type Questions)

U3 GRAT 1 ¥ 70 9P & UIP U39 & IR Adbed v M € 94 9 v
|E 2| U gRT g T fadwey w1 OMR—3c W fafted X | fgl 35 UeAl &t

SR < | (35 x 1= 35)

Question Nos. 1 to 70 have four options, out of which only one is
correct. You have to mark your selected option, on OMR sheet. Answer

any 35 Questions. (35 x 1= 35)

1. Ol 3% U% &1 T 31ef 8 ?

(A) UTha gedol YTy (B) UTftherd gexiol Bl

(C) TfhaT T=ei Ty (D) ®ig &l

What does GIF stand for

(A) Graphics Interchange format (B) Graphics Interchange function
(C) Graphics Enhance (B) None

o~ v

2. Shice Fad-c AN ¢ |




(A) 192.168.1.1. (B) 8080
(C) 255.255.255.0 (D) 80

Default subnet mask is —

(A) 192.168.1.1. (B) 8080
(C) 255.255.255.0 (D) 80
Tqd U9 I TH U BT AA . 2 |

(A) TTRERIGE BRIRCART HAIDHINY vl

(B) BISURCEAT HIdH3MY eivdol

(C) "Tfcreiiel BTEURCHRT HIDHT HIHT

(D) oI =Tl

XHTML stands for ...........

(A) Extensible Hypertext Markup Language

(B) Hypertext Markup Language

(C) Dynamic Hypertext Markup Language

(D) None

A o T HT ATT AZHA B Udh HeareR A7 Afasl dfdd g
faRtre Farem & fory faRkie geg ol & Rieed a1 Uftesed HaeH |
(A) Bi< (B) 2t

(C) < (D) getIR

............ is a vertical or horizontal row of clickable icons that perform

specific for specific operating system or application function.



(A) Font (B) Style
(C) Tab (B) Toolbar
..................... U BedIR [$A15d & Sl -icad & 1 FaR &l giaem yar

FRAT 2 |

(A) &9 (B) Rer=r

(C) RaafeT (D) Rwfee e

A is a hardware device that facilitate communication

between network.

(A) Hub (B) Switch

(C) Splicing (D) default Gateway
Rera & ST ... R 0S| HAfed # foar ST 2 |
(A) eam (B) Sretfeid

(C) wra (D) PIs Tt

Switch isusedin ............ Layer OSI model.

(A) Network (B) Datalink

(C) Session (D) None

(A) &1 (B) 1++
(C) Sirar Rspe (D) Sigadr
............ is a structure Programming Language.

(A)C (B) C++



(C) Java Script (D) JSP

fereiferRad & & o= AT T d U orlerifee sifuver TEl § |

(A)!= (B) €

(C) <1 (A) wd (B) (D)*

Which of the following is not an Arithmetic operation in C-
Programming.

(A)! = (B) €

(C) both (A) and (B) (D) *

frferRad & & SF— yrnfiT # fAcarss effuvex 2|

(A) 11 (B) ++
(C) I (A) Vg 4. (D) &g &l

Which of the following is a bitwise operator in C-programming

(A) 11 (B) ++
(C) both (A) and (B) (D) None
o Tead Bl JAfepad AT

(A) 1000 HIex ©IH (B) 1000 Hrex
(C) 500 HIc¥ (D) 800 HIcx

Maximum range of LAN network
(A) 1000 meter campus (B) 1000 meters

(C) 500 meters (D) 800 meters



12.

13.

(A) ©IcH™ WaT offded Fav iR

(B) ich™ Wad 3R HaX Wd4

(C) add wicHH ad4

(C) P1g e

JSPisa ..........

(A) Platform independent but server dependant

(B) Platform independent and server independant

(C) Only platform independent

(D) None

................... Rl NG TaRT S AU IR RAARIN & HRUT 39 Bid

fepa o |

(A) I (B) THRIUS AR

(C) ArETHagye (D) WIcHif

............ who forked it due to concerns over its acquisition by oracle.
(A) Unix (B) SQL Server

(C) MYSQL (D) Photo Shop

................... U AMUEH w9 SYAN a1 S a1l o AT 2 |

(A) BHiRTEE (B) St T

(C) St ¢ g, (D)

............ is a widely used free software license

(A) copyright (B) GPL



14.

15.

16.

(A) 1,024 ITETST
(C) 1000 Sirdl

(D) Session

(B) 100 Sir€
(D) 1024 fherrarse

One megabyte is more Precisely defined as ............

(A) 1,024 GB
(C) 1000 GB

PNG &1 31ef o =

(A) iR Aeas TTfhad

(C) Ude $exe AR
PNG stands for ............
(A) Picture Netwoek Graphics

(C) Pocket InterNet Groper

(A) ST BT TS BT UTHY BIgd
(C) B Bfd I HIed

TIFF stands for ............

(A) Tagged Image Format file.

(C) Total Image Format file

(B) 100 GB

(D) 1024 KB

(B) UIcHdl wicds UTihed
(D) WIcI cad ATftha

(B) Portable Network Graph

(D) Photo Network Graphics

(B) ST @1 TS BfY NueiRe wIga
(D) SWRITT # | PIg 8l

(B) Tagged Image Formal file

(D) None of above



18.

19.

(A) ®BIgel T UIeThid (B) ®Igel IR YIcThid]
(C) I (A) 3R 4. (D) ®ig &

FTP stands for ............

(A) File Tagged Protocol (B) File Transfer Protocol
(C) both (A) & (B) (D) None
TISIETNTE BT A9 ¢ |

(A) BEIRCHRE TIAEN UIcTdidl RIFIR

(B) BISIRCHRT TIABR UIcTdhicl Hhefd]

(C) BIEURCHRT STHBY UIcThicl |l

(D) BESWRCHRCT TTABR UIcThidl

HTTPS stands for —

(A) Hypertext Transfer Protocol Secure
(B) Hypertext Transfer Protocol Success
(C) Hypertext Transfer Protocol Service

(D) Hypertext Transfer Protocol

FATSC SIYATH AT THUATA BT STANT TP GRT UE (v ) A TS
HHAT 2 |

(A) 636 (B) 21

(C) 39 (D) 8080

Client can connect to the secure port (............... ) using either TLS

of SSL.



20.

21.

22.

(A) 636 (B) 21

(C) 39 (D) 8080

12l = THET

(A) 1000000 (B) 100000

(C) 10000000 (D) 10000
1TB=......... MB

(A) 1000000 (B) 100000

(C) 10000000 (D) 10000
RJ15U&% UHR & g & Sl AMAR W .o @ forg SwarT foHan
ST € |

(A) IR Aedfdi (B) Aia1gd Aeafd
(C) $erAe Aeafdh (D) REAR cdd

RJ15 is a type of connector commonly used for ...........
(A) Wireless networking (B) Mobile networking

(C) Ethernet networking (D) Telecommunication Network

TR ATCdIR S 41 8 ?

(A) TeId AR (B) Zprga
(C) T (A) 3R (B) (D) ®r et
Which is a Freeware software ?

(A) Adobe Reader (B) Skype

(C) both (A) and (B) (D) None

10



23.

24.

25.

26.

(A) Tasr quaTy (B) 3iR®
(C) =T (A) 3Tk (B) (D) P17t

8080 is default portof ............

(A) XAMP Apache Service (B) Oracle

(C) both (A) & (B) (D) None

SeRIIE AT AT R [ BT W o ¥ ST R ST R
(A) Tewe (B) Srwerh

(C) Hdere (D) g el

Internet Information Services Server mainly usedin ............

(A) ASP.net (B) JSP

(C) Servlet (D) None

ASH BT o @ wU H N ST ST

(A) HiegeR / SHHIgeicy (B) HiSgeR / SHISYeR
(C) HArgeie / SHfeere (D) SWRIad H A PIg el

Modem is also known as ............

(A) Modulator/DEModulator (B) Modular/DeModular
(C) Modulate/DeModulate (D) None of the above

1 d = fac|

(A)1e +38 (B)8e + 6

(C) 1e + 11 (D) 1e + 10

11



27.

28.

29.

(A) 1e + 8 (B)8e +6
(C) 1e + 11 (D) 1e +10
1 UCTEISE = .o T qISC

(A) 1e+6 (B) 1e+9
(C) 1e+11 (D) 1e+10
1 Petabyte = ............ Megabyte

(A) 1e+6 (B) 1e+9
(C) 1e+11 (D) 1e+10

................. Uh UHR B dAdex § ol AMHAAR W $ARAC Acdd & folw

SYART fhar ST 2 |
(A) 3R S 45 (B) 3R o 15
(C) eI (A) 3R 4. (D) ®Ig 8

............. Is a type of connector commonly used for Ethernet

network.
(A) RJ45 (B) RJ15
(C) both (A) and (B) (D) none

.............. AR . ¥ TR A ST DI ACad H a0 W R A Sdhcor fhar

ST 2 |
(A) Raa 3R ISR (B) Raa iR &«
(C) < (A) 3R (B) (D) ®1g el

12



30.

31.

32.

In ... and .............. the data is reassembled at the
destination in network.

(A) Switch and router (B) Switch and Hub

(C) both (A) and (B) (D) None

0T Ue Ae AfeR SUAIRAr & M & fSTI®r ST .. FHAFAT

BT GO B B forv fhar Smar 2|

(A) Tead (B) TR

(C) amRers (D) Tftcianer

Ping is the name of a standard software utility used to test ..........
Connections.

(A) Network (B) Computer

(C) Wireless (D) Application

SWF &I Adeld ............... =

(A) TifdH 99 BIgd (B) 9= HriyaTE

(C) BT dd BIsd (D) ®ig &l

SWEF stands for ..............

(A) Shock wave file (B) Scientific workflows
(C) Small web file (D) None

Telel &7 fodR ar & 2
(A) TH S=g Th (B) drg=ioh
(C) wa 1 St Tt (D) 1 &

13



33.

34.

35.

What is the extension of flash ?

(A) SWF (B) PNG

(C) mpgav (D) none

WA S TA TP =

(A) GIfSAT ®rger TR (B) 3iifedT Brgdt UReY
(C) = ®Igal urey (D) ®ig &l
MPGAVisa............

(A) Video file format (B) Audio file format
(C) Picture file format (D) None

JPEG &7 319 .......... =

(A) FITT BICTh fRve s

(B) wIcruTthes faRivs |Hg  wiHAe &

(C) Wgad BIchhe fadR HqE

(D) P1$ e

JPEG stands for ..............

(A) Joint Photographic Experts Group
(B) Join Photographic Experts Group
(C) Joint Photographic Extend Group

(D) None

WAN “cass & Iffhdd WHET 10,000 fheiiier iR = ...

(A) BT (B) #eTeda

14



36.

37.

(C) F8—gexTe (D) ®1¢ el

Maximum range of WAN network is 10,000 Kilometers and Location
(A) Country (B) Continent

(C) Planet-Internet (D) None

=1 H ¥ D A1 ARRSGY &Rl & IUANT TR ol a1 BT Fal da=IPbl
g7

(A) 3Tet 3TewT = "7 (B) 31 TeT UhR = T

(C) ol 3eR = "7 (D) SWRIad H A Py el

Which of the following is the correct way to create a list using the
lowercase letters ?

(A) <ol alpha = “a”> (B) <ol type = “a”’>

(C) <ol letter = “a”> (D) None of the above

..................... TH SRS © ol e W <@ & fov J9 ¥gel iR S+«

T BIgoll bl AUSIT BT © |
(A) 99 FATSC (B) 99

(C) 99 R (D) s&Y sy, s,

............ is computer that stores websites and their related files for
viewing on the Internet.
(B) Web client (B) Web

(C) Web server (D) WWW

15



38.

39.

40.

Horel Udh 99 FsC Bl ISTINRTHAT Bl FH TR ... R B DI

AT <l 7 |

(A) PR eI (B) dapd

(C) =T (D) &=

Cookies allow a website to store a .......... on the user's machine.
(A) Garbage value (B) Crackers

(C) information (D) Session

BICH R

(A) BrRIRdTA (B) UtarRd

(C) Tl (A) 3R 4. (D) fd=Iat fewsx

What is ‘Norton’

(A) Firewell (B) Antivirus

(C) both (A) and (B) (D) Windows defender
TV ... % forg ®

(A) Rd R i forfics (B) wRa wH@R A fafics
(C) faeR w=r fomm fafics (D) SR ¥ | Blg el
BSNL stands for ..........

(A) Bharat Sanchar Nigam Limited
(B) Bharat Samachar Nigam Limited
(C) Bihar Sanchar Nigam Limited

(D) None of the above

16



42.

43.

44.

................ T Rt &1 f$foied § gael 3R s faudia i
(A) R (B) reex

(C) &4 (D) HreH

.............. convert the analog signal to digital and vice versa.
(A) Switch (B) Router

(C) Hub (D) Modem

fF=forRad & | &9 U@ arRed ddHie 2 ?

(A) 3 Sit (B) SIe—311

(C) Siwea (D) @9t gexe Yad
Which of the following is a wireless technology ?

(A) 3G (B) Dial-up

(C) DSL (D) Cable Internet Access
............ Rl I eTgai U= AT HR Fhd & |

(A) Tt (B) fsfrea

(C) SWRYad <1 (D) SRIF ¥ I BIg 78N

............. Signals can travel over phone lines.

(A) Analog (B) Digital

(C) Both of the above (D) None of the above
MAC &T Add ........... 2

(A) aRNCTE Ty Ufgcy (B) arIRIY Ui @ise
(C) WTEshT VT HglelR (D) SWRIad H A Py el

17



MAC stands for ............
(A) Wireless Access Pointer (B) Wireless Across Point

(C) Micro Apps Controller (D) None of the above
f=foRaa # & 59 qH-Ie &1 SUANT U9 ATEHT Bl Eled, A anfe

qad ge¥ic UG &’ & fory fhar Sram 2 |
(A) aTSHIg (B) arsHa

(C) SrIcie™ (D) Pt ge¥AC TR

Which of the following technology is used to provide free internet in
hotels, malls etc. to their customers.
(A) Wifi (B) WiMAX

(C) Dail up (D) Cable Internet Access

................. gov¥-c W GOR B W7 2 |
(A) @RT Hew (B) s9
(C) if&ar Pret (D) SWRIad |

.............. is a form of communication over internet.

(A) Instant Messaging (B) Email
(C) Video Call (D) Al of the above
................ q H AUFRT 3R FAIRST ST F81 81 3 |

(A) <br> (B) <u>

(C) <I> (D) <ol>

The ............ element does not have an opening and closing tag.

18



48.

49.

50.

(A) <br> (B) <u>
(C) <I> (D) <ol>
I & AR BT STANT TR Ja—awiid ST A § YAIS ST aed @ |

(A) <Pre> 3R </Pre> (B) <P> 3R </P>

(C) <Repe> &k <Repe> (D) 379 & ®Ig T8

If we want to embed the content into Pre-formatted tag set using.
(A) <Pre> and </Pre> (B) <P>and </P>

(C) <script> and </script> (D) None of these

.............. ST BT YINT A Bl Hie 31eRi § ualRid oxa & forar fdbar

g |

(A) <d> (B) <t>

(C) <br> (D) <u>

............... tag is used to display content into bold letters.
(A) <b> (B) <P>

(C) <br> (D) <u>

................ ST H, AT B 91D © Udh BiFC MEHR H VISl FaiRid faar

NI D ATHUTT dT YIS |

(A) <BITT> (B) <31fere BIer>
(C) I (A) IR 4. (D) 3TH & BIg =l
Inthe .............. tag, content is displayed one font size smaller than

the rest of the text surrounding it .

19



51.

52.

53.

(A) <small> (B) <Smaller>
(C) both (A) and (B) (D) None of these
G A SN Y & oy dex Red &1 IuAMTEHal f=ar & daiia

HIAT B, AR D! IMeTHAT Y W |

(A) TicHT FHoll (B) tFRTRICT
(C) Ctrl 3R Alt Ff (D) SWRITT ¥ & P T
Computer ............. refers to the user friendliness of a computer

system for all, regardless of their disability.

(A) Shortcut Keys (B) Accessibility

(C) Ctrl & Alt Key (D) None of the above
AR B ... # SueTe g |

(A) afeT (B) fra=or et

(C) Swhera (D) SWIad # | B &l

Accessbility options are availablein .............
(A) Setting (B) Control Panel

(C) Desktop (D) None of the above

..................... e A9 @ 9ol Ush Uisfed fSarsd @& w9 § dars (e

T H AITHS DHIUS) BT STINT HIAT & |
(A) ST HERT (B) 4189 @il
(C) safy <! (D) SWRITT # A PIg 8l

20



54.

55.

56.

The ............ option uses the Keyboard (especially numeric

Keyboard) as a pointing device instead of a mouse.

(A) High Contrast (B) Mouse Key

(C) Sound Sentry (D) None of the above

.................... B I AN B Heradl & foy s fhar a2 R a1
g1 ASH BT ITANT B H HSATE Brll & |

(A) DTS B (B) AISHAS

(C) caat (D) W= EHoh

............... is designed to assist people that have difficulty using a

keyboard or a mouse.

(A) Keyboard Keys (B) Mouse Keys

(C) Tab Keys (D) General Keys

HAR ATl & SATER ... g

(A) DT AR (B) SuUE

(C) =i (A) &R (B) (D) SWiad H A ®Ig el

Is/are the examples of communication channels .............
(A) Cable wire (B) Satellites

(C) Both (A) and (B) (D) None of the above

PHRYCR CqD IMBTTIR P GBI oo |

(A) TRR—T—URR 3fhcar (B) FTSe—1eR IMfdhaar
(C) I (A) 3R (B) (D) SWRIaT # | PIg 8l

21



Example of computer networks architecture .............

(A) Peer-to-Peer architecture (B) Client-server architecture

(C) Both (A) and (B) (D) None of the above
cdd H §B B B (AN FHUT BRI B 8, S 3 HRCI Pl HaATg
T BRA 8, o HEA B |

(A) Ferge (B) waR

(C) THI (A) 3R 4. (D) SWRIad 4 A BIg A8l

In a networks certain computers have special to other computers
Which provide services to other computers are called ..............

(A) Client (B) Server

(C) Both (A) and (B) (D) None of the above

ead @ UgE faf=1 UeR F®1 7 ?
(A) el TRAT Tedd (B) aige URAT Acad
(C) THI (A) 3R 4. (D) SWRITT # A PIg 8l

What are the major different type of network

(A) Local Area Network (B) Wide Area Network
(C) Both (A) & (B) (D) None of the above
EESIEIESHGCE 2 A @ 9 H 9 ST ST 2

(A) S 2 (B) S5 4

(C) s<g 3 (D) $=g 1

World wide web is also known as ..............

22



60.

61.

62.

(A) W2 (B) W4

(C) W3 (D) W1

................. SCHIACS BIGUNCRT GWIAGll bl U -icdd & O $evre &
qeq ¥ Uadd AT S Al © |

(A) acS arge 99 (B) W3

(C) =i (A) 3R (B) (D) SWIgd # & BIg Tl
............... is a network of interconnected hypertext documents that
may be accessed via the Internet.

(A) World Wide Web (B)y W3

(C) Both (A) and (B) (D) None of the above

............... U IURRY & ol fefied dger Red & wAreanT REEer 4
AR BT & ST B gl R FdT8 BR FhT © |

(A) TS (B) AreH
(C) st (D) SRIad # A HIg 8l
A is a device that converts digital computer signals into

analog signals that can travel over phone Lines.
(A) Router (B) Modem

(C) Bridge (D) None of the above

g9 ¥ IR Scl Y SiahY R Ghd 8 2
(A) dfa Rafa T & SwaT &1 (B) Ude RafRT &1 SUART &vAT
(C) \Araoia Rafa T &1 IUART &=A1 (D) 99 RAfe T &1 START HeAT

23



63.

64.

65.

How can transfer data on the internet ?

(A) Using Box switching (B) Using Packet switching
(C) Using Public switching (D) Using Web switchin
Jffepier ¥ HANTT HUCTIR H ... Uee[ BRA BT fdden wnfiet
I 2 |
(A) BIg RATHITHROT (B) sfifear g
(C) difear iferT (D) SWRIad |t

Most instant messaging software include the option for performing —
(A) File transfer (B) Audio chat

(C) Video called (D) All of the above

................ ESdIR gThl ol fUeR, Th=R AN I ATST A H AGG DRl

g |
(A) HYER Tcah (B) BEIRR -Icdd
(C) g1 Acasd (D) SWRIFT H | Bl 2l

........... help to share hardware components such as printers,

scanners etc.

(A) Computer Network (B) Hardware Network
(C) Information Network (D) None of the above
iffear iR fafSAT BIFBRAT & oI o, o AR <IN

24



(C) AIgshI®IA, BEHIA, W (D) T9 ®hIH, WD, HATShIBI
............. y eeeiieennnnn. & oo, & Web camera are required for
audio and video conferencing.

(A) Joystick, computer, video

(B) Text, Audio, Video

(C) Microphone, Headphone, Speaker

(D) Touch Screen, speaker, Micro phone

66. oo e W g9 B SRR W e g ?
INEIECIERRSRES) (B) JMHeATS ol
(C) I (A) 3R 4. (D) SWRIGd § & PIg el

............ deals with transfer of money over the internet.
(A) online transactions (B) offline transactions

(C) Both (A) and (B) (D) None of the above

67. 3T Sc¥Ac TN SRgH HF HH HY Fobd @ ?

(A) TEARIRY GITCIIN BT SUGNT HRAT

(B) 31T &I QIR

(OEEECRISES

(D) SWRIFT |

How can you reduce the ricks over the internet ?

(A) Using Antivirus software (B) Fire walls

(C) Strong Password (D) All of the above

25



69.

70.

............... TH UM 2 S SMUS RIM $Re} W dd 99d © o9 3N

JevITgel IR S 2 |

(A) BrIRelTet (B) Gl

(C) sfcrera (D) SuRTa w4l

............. are Programs that are created on your local computer
when you visit websites.

(A) Firewall (B) Cookies

(C) History (D) All of the above

d9 IISoR H dedisel W UUA § ISUINT fhU $M 9l UTads Bl R

(A) Tl (B) 3fafifed uraas udad
(C) sferers (D) SRITT # A BIg T
Web browsers have ............ designed to store passwords used in

forms on websites.
(A) Cookies

(B) Built-in Password management

(C) History (D) None of the above
HTML ST o H HeT T B |

(A) geRTe! Hbe (B) WHaTR Hdes

(C) ST8X Jgrul (D) BIviy B
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(A) curly brackets (B) square brackets

(C) double quotes (D) angles brackets

TYuvs—q /Section -B

o S 939 (Short Answer Type Questions)

U3 T 1 W 20 oY SR & | fBEl 10 U B SR < | AP U b

forw 2 sfw fuiRa 2| (10x2=20)
Question nos. 1 to 20 are Short Answer Type. Answer any 10
questions. Each question carries 2 marks. (10x2=20)
1. NOR 3R OR e &I qR+Ia @Ifeg | 2

Define NOR and OR Gate.
2. HoHar IR AT # iR o | 2
Differentiate compiler and interpreter.

3. fU U 99 ud & U—D YT Bl AT BN

http://mail.yahoo.com 2

Explain each parts of the given web address : http://mail.yahoo.com

4, ST IRGSdT Bl AT D | 2

Explain database integrity.

5. THTHUA Pl FHSISY | 2
Expalin SSL.
6. fbgl TR SQL Ha=™ Bl URAT HIfTT | 2

Explain any four SQL function.
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7. T Sga | faRivar &1 quie o |
Describe attribute in a Table.
8. Bl ta UfWeH HivedIR &1 9o BIfTY |
Describe any one animation software.
9. TMNAUIC <R Bl URWIMNT PN |
Define Transport layer.
10. <d® YREM B i PN |
Describe network security.
1. 99 & IRAT ~ead & aRued ¥ |
Explain Session in side of Network.
12.9¢d® oIIR BT aU o |
Describe Network Layer.
13. Rerg &1 gRIT &Y |
Define switch.
14. FEIC A BT YRATVT X |
Define subnet mask.

15.ed BT TRITT P |

Define Gateway.

16. STTATRshe H 19 ST UbR T & 2

What are the three data types in javascript ?

17. DS TINSY B BRIYYT bl ISTEI0T Ifed TIsIsU |
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21.

22.

23.

24.

Explain the working of conditional operator with an example.
18. RITFII 3R AP TR P IRFTNT PN | 2
Define Local and Global variable.
19. WWW. 3R $eIe § &1 3R & ? 2
What are the difference between www and Internet ?

20.99 US & A= gcd war g ? 2

What are the different components of web pages?

e Sa9a 939 (Long Answer Type Questions)

U9 AT 21 W 26 db <" IO YT 2 | fhsl 3 Ul & SN < | UP
% fory 5 ofe fAuiRa B | (3x5=15)

Question nos. 21 to 26 are Long Answer Type. Answer any 3

questions. Each question carries 5 marks. (3x5=15)

U Fdx I feaifed o= &1 ufhar &1 g+ & |

Describe the Process to execute Apache Server.

0T e 3R I¥a 4 T[0T AU |

Explain ping command and it’s three properties.

Pielol TolldRul & oIy U ReR 99 U9 991 @ forlw HTML &rs (@R afe
maead 8 dr Repe) fored |

Write HTML codes (and script if necessary) to create a static web page for

College Registration.

ISR & A1 fhsl ua HTML 239 &1 uRYTNdT & |
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25.

26.

Define the any five HTML tags with examples.

PHEIATA U DI ITERVT AlSd HHSISY |

Explain the conditional loop with an example.

gexIe Uleihidl & IRAT B |

Explain internet Protocols.
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